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QUESTION 1

A person who recklessly causes the death of an individual may be charged with:
A. Murder

B. Manslaughter

C. Intoxication Manslaughter

D. Capitol Murder

E. Criminally Negligent Homicide

Correct Answer: B

QUESTION 2

Which of the following conditions does not justify operating a motor vehicle on an improved shoulder of the roadway?
A. Under normal conditions, the driver wishes to use the improved shoulder as a clearly marked lane of traffic.

B. To accelerate prior to entering the main-traveled lane of traffic

C. To decelerate prior to making a right turn

D. To overtake and pass another vehicle that is slow or stopped on the main-traveled portion of the highway, that is
disabled, or that is preparing to make a left turn

E. None of the above

Correct Answer: A

QUESTION 3

The theory behind problem-oriented policing is:
A. that underlying conditions create problems
B. policing is a calling rather than a profession

C. community standards are the best standards to use in policing D. crime is cyclic and police efforts in the past have
not adequately dealt with them

Correct Answer: A

QUESTION 4

A person commits the offense of Unlawful Carrying Weapon if he intentionally, knowingly, or recklessly carries on or
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about his person a , , or . Which of the following would not be used to fill in these
blanks?

A. Short barrel firearm
B. Handgun

C. Club

D. lllegal knife

E. All of the above

Correct Answer: A

QUESTION 5

A Citation if the First Legal Notice of a lawsuit. That is the reason that a Citation cannot legally be served on a
?

A. Legal Holiday

B. Saturday or Sunday
C. Sunday

D. National Holiday

Correct Answer: C
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